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壹、國文【第 1-25題，每題 2分，共計 25題，占 50分】 
【3】1.以下那兩句詩，最適合表述「除了作者所想念、鍾愛的女子之外，再也沒有其他女子能使其動情」的意思？ 

可憐日暮嫣香落，嫁與春風不用媒 兩情若是久長時，又豈在朝朝暮暮 

曾經滄海難為水，除卻巫山不是雲 嫦娥應悔偷靈藥，碧海青天夜夜心 

【4】2.子曰：「士志於道，而恥惡衣惡食者，未足與議也。」依據上文，下列最符合孔子對「士」期許的選項是： 

博學而篤志，切問而近思  願車馬、衣輕裘，與朋友共，敝之而無憾 

後車數十乘，從者數百人，以傳食於諸侯 一簞食，一瓢飲，在陋巷。人不堪其憂，回也不改其樂 

【2】3.「魏武將見匈奴使，自以形陋，不足雄遠國，使崔季珪代，帝自捉刀立床頭。既畢，令間諜問曰：『魏王何如？』

匈奴使答曰：『魏王雅望非常，然床頭捉刀人，此乃英雄也。』魏武聞之，追殺此使。」依據上文，下列敘述何者

正確？ 

曹操令崔季珪去詢問匈奴使者 匈奴使者死於他能慧眼識英雄 

曹操透過持刀來表示自己的威猛 崔季珪因為帥氣所以代表魏國出使 

【2】4.正哲在旅行途中，看到一幅對聯：「一葦渡江，遠源溯六祖；九年面壁，妙理悟三乘。」請問這幅對聯中描述

的人物最可能是： 

孔子 達摩 慧能 朱熹 

【3】5.「衣服穿破的少，嫌棄的多，若要說起與衣初見的鍾情，所有的抉擇都是善忘的。□□□□，人的薄倖可謂殘

疾，情致是愈來愈萎縮了。」依上下文意，□□□□最適合填入的選項是： 

陽春白雪 郭公夏五 秋扇見捐 冬溫夏凊 

【1】6.陶淵明在〈桃花源記〉中描述捕魚人進入桃花源的過程：「初極狹，纔通人；復行數十步，豁然開朗。土地平

曠，屋舍儼然。」以下那個選項的釋義最為正確： 

表示進入桃花源之路窄小，裡面的房屋卻十分整齊 

表示進入桃花源之路無人，裡面的房屋卻十分高大 

表示進入桃花源之路漫長，裡面的房屋卻十分高大 

表示進入桃花源之路開闊，裡面的房屋也十分整齊 

【1】7.「彷彿臨鏡剖心，□□片晌，繼而□□了。我不夠認真於現實，有時是□□地得過且過；捫心自問可有什麼事

是堅持而認真呢？只有文學而已。四十年前的蒙昧，四十年後的懺悔，看來是虛度、耗損一生了。」 

怔滯／愧然／輕慢 愧然／怔滯／輕慢 怔滯／輕慢／愧然 輕慢／愧然／怔滯 

【3】8.「雖然他們兩人相隔遙遠，但幾年來□□□□，所以感情仍是維繫得很好。」文中的□□□□最適合填入的選

項是： 

沉魚落雁 空弦落雁 魚雁不絕 雁過留聲 

【2】9.孔子曾言：「人不知而不慍，不亦君子乎。」意指： 

君子不想別人了解也不會生氣  

君子不會因不被人了解而生氣 

君子不會因不了解別人而生氣  

君子不會因自己的無知而生氣 

【1】10.以下完全沒有錯別字的選項是： 

他既然執意如此，我只好遷就他的主張  

這期的工程進行十分順利，可望提前峻工 

保齡球中的飛碟球，是由臺灣人首先發名的打法 

據希水晶能感應氣場，因此修行練氣的人都非常喜愛 

【3】11.「他最得意的一筆大買賣是：結識秦流亡公子嬴異人並資助其回國即位，從而成功實現由商從政的歷史性轉變。

他曾輔佐秦始皇登上帝位，並任秦朝相國。」文中所指的「他」應該是： 

范蠡 張良 呂不韋 沈萬三 

【2】12.以下那個選項中的數字是實指？ 

沛庭的書法寫得很好，頗有入木「三」分的味道 中醫強調人的活動，要與「四」季節氣相互配合 

這個瀑布好高，頗有飛流直下「三」千尺的氣勢 本公司剛渡過破產危機，是「百」廢待舉的時刻 

【2】13.瓊花在台南市旅行途中，看到寺廟中有一幅對聯：「陽律欺瞞能倖免，陰司清算總難逃。」請問這座寺廟最可

能是： 

文武廟 城隍廟 觀音寺 財神廟 

【1】14.「現在的動畫片車載斗量，但真正好看的卻不多。」以下最接近「車載斗量」意思的選項是： 

恆河沙數 花團錦簇 胸無點墨 鳳毛麟角  

【2】15.下列文句「」中的疊詞，何者作為狀聲詞使用？ 

不管發生什麼意外，他總是笑「瞇瞇」的跟我說話 

秋天一到，立即感覺陣陣吹起的涼風「颯颯」而至 

他端出一杯熱「呼呼」的英式花茶，令他感動萬分 

看到一碗香「噴噴」的牛肉麵，令人不禁垂涎三尺 

【1】16.新聞報導：「這場回祿之災，造成五死十二傷，災情十分慘重。」文中的「回祿之災」指的是： 

火災 水災 風災  地震 

【3】17. 下列哪一個選項不是「以具體的事例用以表達讚美之意」？ 

你把這裡裝潢成海盜主題風，真是太厲害了 你的畫中的綠樹很美，讓人感受到春天降臨 

你的文章很有想像力，實在是一篇非常好的作品 你報告寫得真的很好，尤其是探討員工問題的部分 

【4】18.下列哪一個選項，前後兩句最不可能是因果關係？ 

斬草不除根，春風吹又生  欲窮千里目，更上一層樓 

道狹草木長，夕露沾我衣  落日照大旗，馬鳴風蕭蕭 

【3】19.「水畔楊柳茂密，將一座□□幾乎遮滿了，□□停在橋下，像是間天然的□□一般。」依序最適合填入□□的

選項是： 

小屋／小船／小橋 小橋／小屋／小船 小橋／小船／小屋 小屋／小橋／小船 

【4】20.「不經歷風雨，怎麼見彩虹，沒有人能隨隨便便成功。」下列何者最符合上文的意旨？ 

少壯不經勤學苦，老來方悔讀書遲 黃河尚有澄清日，豈可人無得運時 

良藥苦口利於病，忠言逆耳利於行 寶劍鋒從磨礪出，梅花香自苦寒來 

【4】21.「2017年全球景氣谷底回升，帶動國人投資熱潮同步增溫，12月投信基金的定期定額投資人數、筆數與金額，

均高於 2016 年底水準，尤其是扣款金額，大幅成長 18.5％，並以機器人、陸股基金增加最多。」下列何者最符合

上文的意旨？ 

 2017年的景氣已到達最高點  2017年的定期定額基金銷售不佳 

 2016年沒有人買機器人及陸股基金 定期定額的投資金額與景氣息息相關 

【4】22.若 2015年是乙未年，則在 2018年狗年給客戶賀卡中，所應填入的歲次是： 

甲未 乙戌 庚子 戊戌 

【2】23.下列關於詞語的解釋，何者錯誤？ 

何以解憂，唯有「杜康」：酒 「薰風」自南來，吹我池上林：寒風 

人生自古誰無死？留取丹心照「汗青」：史冊 民族之精神，人群之「龜鑑」：比喻警戒和反省 

【4】24.以下完全沒有錯別字的選項是： 

老闆說打烊了，只見吃茶的人都一轟而散  

佳玲今天狀態很好，一股作氣就爬上山頂 

景瑞為了爭取工作，把他的十八班武藝都展現出來了 

伯霖跟朋友說：新產品限量發行，欲購從速，以免向隅 

【4】25.「何其愁慘而微弱的閃爍／有火還似無火／盡依草遶籬而飛／卻總飛不到陶隱居的眼底」，本詩中所描述的主

角最可能為： 

星光 鬼火 流星雨 螢火蟲 



貳、英文【第 26-50題，每題 2分，共計 25題，占 50分】 

一、字彙【請依照句子前後文意，選出最適當的答案】 

【1】26. The sales of computer ___________ such as webcams and external speakers have been going up steadily. 

 accessories  algorithm  analogies  antonym 

【1】27. Looks like it’s going to rain the whole afternoon. Let’s go for a ___________ walk before lunch time. 

 brisk  caress  liter  naval 

【1】28. “Your plan will work,” Ashley ___________ after our hour-long debate, “but I still think mine is not too bad.” 

 conceded  distorted  fortified  glistened  

【2】29. The government’s new labor policy was critically ___________ by its opposing party. 

 announced  denounced  enounced  pronounced 

【1】30. The prospect of meeting her idol put Mary in great ___________. She was too excited to sleep last night. 

 ecstasy  episode  eruption  exploitation 

【2】31. Johnny could not stop weeping and ___________ the loss of his beloved pet dog. 

 hunching  lamenting   mimicking  pondering 

【4】32. Being ___________ means more than being able to read. Modern-day citizens should also know how to access 

information in the digital world. 

 barren  compact  hoarse  literate 

【2】33. Overflown by complaints about noise and pollution, the shopping mall has become a ___________ to its neighbors. 

 hostage  nuisance  refuge  sanctuary 

二、文法測驗【請在下列各題中選出最適當的答案】 

【4】34. The theme of this year’s World Economic Forum, ___________ today, is how to come together in a “fractured world.” 

 begins   it begins  when begin  which begins 

【3】35. ___________ the venue or cost, the main reason why people join a workout program is still the pure enjoyment. 

 Since   Within  Whatever  Nevertheless 

【2】36. Getting students in school is ___________; getting them out with the knowledge they require is ___________. 

 one, other  one thing, another  one, another thing  one thing, other thing 

【2】37. There are logistical challenges ___________ adopting this innovative model of business operation. 

 be  to  if  so 

【4】38. Mr. Oxford, after failing the critical interview, recalled that he had never in his life ___________. 

 more frustrated  more frustrating  be more frustrating  been more frustrated 

【3】39. Canada’s climate is much like ___________ the United States, but colder and drier on average. 

 it is  that  that of  those in 

【1】40. The passport originated as a traveler’s official letter of introduction ___________ by his country and ___________ to 

foreign governments. 

 issued, addressed  issuing, addressing  issued, addressing   issuing, addressed 

三、克漏字測驗【請依照段落上下文意，選出最適當的答案】 

It’s speculated that 70 percent of the jobs at Japan’s hotels will be automated in the next five years. For hotel owners, it 

takes about a year or two to get their money back on robot  41 . But since robots can work 24 hours a day, and they don’t 

need vacations, eventually it’s more cost-  42 . One latest research estimates that 54 percent of the tasks workers perform 

in American restaurants and hotels could be automated using currently available technologies—making  43  the 

fourth-most-automatable sector. Ostensibly,  44  worrying. In fact, the food-service and accommodation sector now 

employs 13.7 million Americans, up 38 percent since 2000,  45  more jobs than manufacturing. Like it or not, now 

robots have arrived in restaurants and hotels for the same reasons they first arrived on factory floors. 

【3】41.  adjustment  dependent  investment  maturity 

【2】42.  capable  efficient  magical  original 

【1】43.  it  which  all  whom 

【1】44.  this is  they are   which is  those are 

【2】45.  abiding by  accounting for  assisting  appealing 

四、閱讀測驗【請在下列各題中選出最適當的答案】 

Contemporary scholars agree that “race” was essentially a folk idea, not a product of scientific research and discovery. 

Since the 1940s when Ashley Montagu argued against the use of the term “race” in science, a growing number of scholars in 

many disciplines have declared that the real meaning of race has to do with social realities, quite distinct from physical 

variations in the human species.  

Race and its ideology about human differences arose out of the context of African slavery. But many peoples throughout 

history have been enslaved without the imposition of racial ideology. The first people that the English tried to enslave and 

place on plantations were the Irish with whom they had had hostile relations since the 13th century. In the later part of the 17th 

century the demand for labor grew enormously. It had become clear that Irishmen did not make good slaves. More than that, 

the real threats to social order were the poor freed whites who demanded lands and privileges that the upper class colonial 

governments refused. Some colonial leaders turned to African labor for a buffer against the masses of poor whites. 

Until the 18th century the image of Africans was generally positive. But in order for the colonists to transform African 

Americans into their property, they minimized those qualities that make their slaves human. The rise of a powerful antislavery 

movement both in Europe and in the United States posed threats. As a consequence, proslavery forces found it necessary to 

develop new arguments for defending the institution. Focusing on physical differences, they turned to the notion of the natural 

inferiority of Africans and thus their God-given suitability for slavery. Such arguments became more frequent and strident 

from the end of the 18th century on, and the characterizations of Africans became more negative. It was not until 1857 when 

U.S. Chief Justice Roger Taney legitimized slavery only for Africans and their descendants that the concept of race was 

codified in laws.  

Today anthropologists claim that “race” has no intrinsic relationship to human biological diversity and “race” is a social 

invention. The race concept beginning in the 18th century became a problematic worldview, a set of culturally created 

attitudes and beliefs about human group differences. 

 
【1】46. What is the passage mainly about? 

 The evolution of a human concept. 

 The scientific foundation of a research.  

 The codification procedures of slavery. 

 The contributions of modern anthropology. 

【2】47. According to the passage, what is true about the term “race”? 

 It was discovered by scientists in 18
th
 century. 

 It was made up for the interests of a small group. 

 It has resulted from the study of human physical differences. 

 It was established in the British colonial period to minimize slavery.  

【2】48. According to the passage, which of the following is true about poor Irishmen in the 13
th
-17

th
 century? 

 They traded African laborers. 

 They labored in the farm for the English. 

 They gained social power through revolutions. 

 Then enjoyed privileges granted by colonial leaders. 

【4】49. What does the word “institution” refer to in paragraph 3? 

 Property.  

 Movement. 

 Colonization. 

 Slavery. 

【1】50. What can be inferred from the passage? 

 Africans as a group have been negatively influenced by the idea of “race.” 

 Proslavery forces may develop new arguments to defend themselves. 

 Future anthropological studies may focus on bio-diversity. 

 Roger Taney was an African descendant. 

 


